6th Math

Revision i (37T)
1. 4TSt gret g3

@ 725+1 = ... ® 725+725 = i
© 0+725 = ... @ 8B+1 = s
() 823+823 = ... ® 0+823 =
® 0+99999 = .. @) ...+35 =0
@ 87450 - ............... =1 G 8129 + ... = 8129

2. Jo fafiprt fe9 sars w3 et uzr 391
(@ 1652+7 (b) 5893 +6  (c) 7406 + 6

(d 11982 +5 (e) 28359 + 12 (f) 12321 + 11
3. J5 fafint § I 531 (39® W3 gt uzT 739)

(@ 714 +7 (b) 618 +6 (c) 2416 + 8
(d) 142114 =7 (e) 1384 +6 (H 17126 = 8
(g 2107+9 (h) 3046 + 13 (1) 27661 + 12

4. ygt et § 931 (We 39 IH - ITT x IIEH + gAY

HaE A9 I57

4

FH IHI IEH ot
Gergae 138 11 12 6
() 158 13 12 ]
(b) 2168 (] 135 8
(c) 1689 14 ] 9
(d) 1414 14 ] 0
© 90 ] 12 6
5. 3wiet S St I I A § 2 wiat S S5 T 5 Ao s 2y 79 i3 TP
M3 gl YIT 3|
6. fan Saedt f¥9 21 fow 199 936243 afify womd e g iy i f fi3 @80
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Fill in the blanks :

(a) 725 +1 (b) 725+ 725 = .eeeenen.
€ 0+725 (d) 823 =1 =

@) B23=BIF = sasowsmes ® 0-+823 = J—
(gl 0890999 = oo (h) .+35 =0

(i) 87450 + .....ceeu.e. =1 G) 8129 = ... = 8129

Find quotient and remainder for the following :

(a) 1652 +7 (b) 5893 -6 (c) 7406 = 6

(d) 11982 +5 (e 28359 +12 () 12321 + 11

Solve the following (Find Quotient and Reminder)

(a) 714 +7 (b) 618 +6 (c) 2416 = 8

(d) 142114 =7 (e) 1384 +6 M 17126 + 8

(® 2107+9 (h) 3046 ~ 13 (1) 27661 + 12

Fill empty boxes: (Remember : Dividend = Divisor x Quotient + Remainder)
Dividend Divisor Quotient Reminder

Example 138 11 12 6

(a) 158 13 12 ]

(b) 2168 ] 135 8

(c) 1689 14 [ 9

(d) 1414 14 ] 0

(e) 90 [ ] 12 6

Divide the largest 3-digit number by the largest 2 digit number and find the quotient and

remainder.

A factory manufactured 936243 clips in 21 days. How many clips are manufactured in one day?
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